Suitable Degree of Accuracy

(a) The width of a rectangle is 1.86 cm to
2 decimal places. The length of the
rectangle is 4.63 c¢m to 2 decimal places.

By considering bounds, find the area of the
rectangle to a suitable degree of accuracy.

(b) A car travels 75 km to 2 significant
figures. The time taken to travel this
distance is 1.23 hours, correct to 2
decimal places. By considering bounds,

find the speed of the car in km/h to a
suitable degree of accuracy.
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b = 5.63 correct to 2 decimal places
¢ = 1.78 correct to 2 decimal places

By considering bounds, find d to a suitable
degree of accuracy.

(b)h it =1051I57%
u = 7.6 correct to 2 significant figures
v = 12.4 correct to 3 significant figures

By considering bounds, find t to a suitable
degree of accuracy.

(c).  yi=lc(dide)

¢ = 3.9 correct to 1 decimal place.

d = 18.3 correct to 3 significant figures
e = 3.26 correct to 2 decimal places

By considering bounds, find y to a suitable
degree of accuracy.

| (a) A cube has dimensions 8.29 cm by
| 6.51 cm by 2.89 cm, all measured correct

| to 2 decimal places. The mass of the cube |

| is 562 g correct to the nearest gram. By

[ considering bounds, find the density of the
| cube in g/cm? to a suitable level of

| accuracy.

| (b) A sector of a circle has an angle of
P 78.2° correct to the nearest tenth of a

| degree and a radius of 12.8 cm correct to
' 3 significant figures. By considering

| bounds, find the area of the sector to a

| suitable degree of accuracy.
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